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WEST BENGAL STATE UNIVERSITY
'B.A. General PART-II Examinations, 2016

. PHILOSOPHY-GENERAL

PAPER-PHIG-III
Time Allotted: 3 Hours ' Full Marks: 100
The figures in the margin indicate full marks. enfew M s Tt o W7 e w0
Candidates should answer in their own words o fmdia ger 7 e ©rFy e wwaT
and adhere to the word limit as practicable. ey Teq IR
Group-A
et

Answer Question. No. 1 and 2 and any #wo from the rest within 300 words each.'
S TRG Y W el @R SRTHE e 0N (UTE (R 71D evew Tew alfef woo *tara wug )

1. Answer any five questions from the following within two sentences each. 2x5=10
Re - 570 erw Ter i (26 T 7fb 3w sty e 23) |
(a) What is the meaning of ‘Naya’ in Jaina Philosophy?
oW Wit T wba wd Ry
(b) What is Vyapti?
1 F1C 0=

(c) Identify the hetu and sadhya of the following inference.
Rama is kind hearted for he is a king.

e wemitR @ ¢ iy Bz
I v e, @Ry fofF e
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o (d) What are the constituents of Paramarsa?
RN i e R R wm ey

2f S\, (e) What is Pararthanumana?

/<) RTI FIF =T
~ .o~ (f) Whatis the third avayava of a Paficavayavi Nyaya?
‘ ofesTT R I PO S 7
(g) What is the meaning of the word ‘syar’ in Jaina theory of syadvada?
TE AT L =% 67 o o
(h) Give suitable example of Purvavat Anumana.
SR SR TAYE 7BIS e
(i) Distinguish between Samavyapti and Asamavapti.
1R @ STy W~ i
(1) What is meant by Sadhya?
g TS [ @I

2, Write short notes on any rwo within 100 words each. 5x2=10
-t 7o Bom 2fef soo it Wy e Bt forgm
(a) Difference between Suarthanumiti and Pararthanumiti.

TR @ i W i @)

(b) Classification of hetu.
@A @R Retat)

(¢) Paramarsa according to Nyaya school.
w1 Regier wTe o)

(d) The function of each of the avayavas of Pardrthdnumains.

i 2feft sam Fdwet
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3. Explain the definition of anumiti. What is the difference between anumane 8+2+5
and anumiti? In this context, explain the nature of paksadharmata jiiana.

SAffen A O FEN| AP € SEfifere even Ay w1 @] e
Y OTERITAR 3! YT Feee |

~ What is the relation between anumiti and vyaptijiiana? How is vyapti known 3+12
according to Nyaya Philosophy?

wrfafen e Afeseeicas s ey tH 50w, iR e sty

5. Explain with suitable examples Kevalanvayi, Kevalavyatireki and 5+5+5
Anvayavyatireki inferences.

@I, FE-JOER R T JEF TS Toye TrrzgenR R
FEA

6. Critically explain Jaina, ‘saptabhangi naya’. 15
T SR T ARG PP e |

Group-B
Rem-¢
Answer Question. No. 7 and 8 and any fwo from the rest.
Q7R 8 b 7R &P AR TR (-t 71D @vad Ted fu
' Answer any five questions from the followings: 2x5=10
fafeRie @-ceiat #fi6/0 elvem Tex e
(a) Distinguish between sentence and proposition.
17 '8 I6CA W AT (A |
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(b) Given A and B are False, X and Y are true, determine the truth-value of the
following compound sentences:

T A @ B R 2@, X @k Y 779 21 oigee faferie @fie e we) 3@
- fafazw:

(1) (AvB)o(Y 2X)
(ii) [~ (4-B)v(Y=~X)]
(c) What are the names of valid moods of syllogism in first figure?
IR @ FREBR (e am &
(d) If p is false, then determine the truth-value of (pv~ p)vr.
=Rt p SR 2, O (pv~ p)vr-a7 Ty fadiae e |
(e) Fill in the blanks:
BN 57 T
The subject of the converted will be the of the converse.
SN Srweel] JREcoa A
(f) Is simple conversion of ‘A’ proposition possible?
‘A TBTR I SR G Ry
(g) Give an example of ‘Fallacy’ of four terms?
wifRem 1 cricen @i Targe )
(h) Use truth-table to define the logical connective ‘v’
| (T T (@ TGS IR G - I T |
(i) Symbolize the following:

!

Only citizens can vote.
2 SIIfe
@G AefaTaiE cofb frce )
(j) Show the symbolize form of Mill’s Method of Agreement.
it o safoq kTl S o
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8.

Write short notes on any two from the following:

fefeie @-@iet 767 o= ke Bt frge:

(a) Rules of conversion

QRIS fmeat

(b) Material obversion

Iwsre e

(c) Four-Fold scheme of categorical proposition

R I50a g Tl

(d) Fallacy of illicit minor and illicit major.

TIY T 8 SIY A T |

Test the validity of the following syllogism or syllogistic forms by means of
Venn diagram (any three):

%3 =15

(eabrE AR EERe T 3 TueRelR  [REel [RBIF IwA

(@-ciTa f&af):

(a) AIl-3.

(b) IAA-2.
(¢) No patriot is happy person and some happy persons are virtuous. Therefore,

some virtuous are not patriots.

mmﬁmﬂwﬁa«mm@wﬁmmﬁmwmm

yifife = (eS|

(d) None but the good are really to be envied. All truly wise are good.

2107

Therefore, all truly wise men are to be envied.

It @ RIS O (6 R @9 TN IR ORI, O S @ | oA

& 2o R @
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10.  Test the validity of the following with the help of truth table (any three):

FETHRAR R (34! K617 3641 | (- o710
(a) OvP

O L=P
(b) PO

O>R /RvQ
(© pv(g-~9q)

~p>q /..~pv~p

(d) If weather is good and it does not rain, then either we will go to the play
ground or we will go to watch a movie. It is not the case that it rains, so we

will go to the play ground.

T IR S ANF GR ﬁm@mwwmmmmm
(RTS ACAT | G 73 (@ 3B 200, SR W (&R TS AN

11.  Use truth tables to determine whether the following statement forms are
tautologous, self contradictory or contingent.

AefelRe waeref T e, mw"ﬁmmwmmmmaw
Ry va)

(i) polp>(g-~9)]
(i) [p-(gvnI=l(p-9)v(p-r)]
(i) (p-@)>(gqvr).

12.  Explain and examine Mill’s Method of Difference.
e et e 1 e Row v
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